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Degree Examinations,
February / March -2022

(Examination at the end of Third Semester)
Part - I : English
A Course in Conversational Skills
(Regulation : 2020-21)

Maximum Marks :75
SECTION - A
Answer any FIVE questions, (5%5=25)
1. What is the significance of a Tryst with Destiny?
2. How does Obama warn those who tear the world down?
3. What qualltles of a leader does president kalam present in his interview?
4. How was the prison life of Nelson Mandela?
S.  Analyze how JRD Tata explains the voltas Case?
6. Narrate steve job’s college life in your own words.
7. Introduce your best friend to your brother
8.  Write two sets of dialogues between two friends discussing their evening program:
SECTION - B |
Answer the following questions. Each question carries 10 Marks. (5x10=50)
9. A) Give directions to your uncle from the vijayawada Bus station to yoﬁr hostel in
the college. '
(OR)
B)  Give instructions to your friend on how to make an excel sheet.
10. A) Write a brief note on Greetings.
(OR)
B) Develop a dialogue between a student and a teacher on completing project in
time. '
3*01ENG20/2022 " o))
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11.

12.

13.

A)

B)

A)

B)

A)

B)

Why is steve jobs advice Love what you DO” essential to a meaningful life?
(OR)

What are the important features and rules of the debate?

How do you direct your friend to reach your home from the Railway station?
(OR)

What lessons does Mandela’s life teach to human beings?

Compare and contrast the lives of steve jobs and Ratan Tata.
(OR)

Write a sample role play on condolences due to covid complications.
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B.A./B.Com./B.Sc./B.Sc.(H&HA)/B.B.A./B.C.A. (CBCS) Degree Examinations,

Time : 3 Hours

.
.

n A \w \,N

FEBRUARY / MARCH - 2022
(Examination at the end of Third Semester)
Part - 1 : Telugu
Srujanathmaka Rachana

(Regulation: 2020-21)
Maximum Marks : 75

® - Jgriidwo
Bod oS 0BoBE Vofy I¥rgrarer ooabod. 8 S HPD SHAWor  MingeSo
AR, (B8 JSepredd b Eedyen. (§x5=23%)

ey aEgo 19000 (Frahol.

grR - Erasren

ephc  DBBoSol.
TEo e
o8y .mﬁgo

a8 o oferdd?

6.

. oDT8 (S5orBaR?

8- Bod somy Beorvs'd eXosod ordbod.
Kalam fondly recollects his childhood days. He was coming home from his workplace.
He received the news of his mother’s death. Memories of his mother and father
occupied his mind. He remembered how his parents loved him. Cared for him and
moulded his personality. He recalls his mother’s affection towards him. She was well
aware of kalam’s aims and feelings.

3*01TEL20/2022 @) (Contd...



10.

11.

12.

13.

o - IS |
Bod TS e DEHeH JErErIre ordPOd. H8 JEreraeds 10 Srtne. (5x10=50)

g ASTOH Bdforr DE0D, FE MR BodhEdbod.
CLY)

RS D000, ofren Tp, (rErdE FRD B0Sdo Babod.

EDexY) KrQ) avdy Do @ FATOD BOHEOA.
(Fo)

agdH Epr ofmrod DHBoBok.

SHTE Do SHifore BOAHEOS.
|  (Bor)
oHTE SHigo, DHoaAS Srorold DHBoE0E.

HBS grd KrQ), BOD HBOD TGHOA.
“ Fo)
TT GS55% Bowofod IFherHE Tgho Teahod.

B8 SrgEre ol (BArarod Bendol.
(Bor)
SSro¥doh QgEseen 5963?325)&0;6) 58y 8e)ok.
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B.A./B.Com/B.Sc.(H&HA)/B.B.A/B.C.A (CBCS) Degree

Examinations, February/March - 2022
(Examination at the end of Third Semester)

Part-lll; Life Skills

PERSONALITY ENHANCEMENT & LEADERSHIP

(Regulation 2020-21)

Time: 1'/, Hour Maximum Marks:50

SECTION-A 4X5 =20 Marks

Answer any Four questions. Each question carries Five Marks.

1. 3§80¢0 ol D08? &rd RII*) S8yoSod.

2. DIras DR 180D D3Botod?

3. DEZIDE dgrodo dng) wIger DDE?

4. g8 D .08 .0o8d) 5 DaabdBodRd ALK, D3Bood.
S. g8l §93 HOWBLLR DdBosod?

6. Sgdaq Jurerjosdo wotS DEY?

7. FabEGo ) Ngroorew 087

8. 663 trer TabEdg JpTgen e?

SECTION-B 3X10 =30 Marks

Answer any Three questions. Each question carries Five Marks.

1. DEZADE Hgrodo dng) weres Hoan BOLFISL DY?
2. H80¢ ogoHTud WY Decon Dddodod.

3. oM PEdPD B586¢ vLTVRL BByl

4. Hom mod T ADESS vl DD?

5. 20d LB PR DdBoBod?
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3*01ANS20
B.A/B.Com./B.Sc./B.Sc(H&HA)/BBA/BCA (CBCS) DEGREE EXAMINATIONS,
FEBRUARY/MARCH - 2022
(Examination at the end of Third Semester)
Part - I11: Life Skills
ANALYTICALSKILLS
(Regulation 2020-21)

Time : 1% Hours Maximum Marks : 50

SECTION - A

Answer any Four questions. Each question carries 5 marks. (4x5=20)
S edlh BHRH SEPrSIver (ain. H8 BEHH b Eriye

)IOB_

1.  What is the unit digit in the product (3547)'%x(264
(3547)'53x(264)'” ogod® 288 3526065 6%) ©085H EHAKHED.

; 9 12 18 21
2 Flnd the LCM Of 10:25:35$40

9 12 18 21 ot s g
1025735740 '
3. If 10® March, 2018 is Saturday, What was the day of the week on 25" January,

20107
2018, &mBy 10 ¥ 8BS ¥V oo 2010, =556 25 & 863 D To ©HFHOO.

4. The average of a non-zero number and its square is 5 times the number. Find the

number. |
2.8 EPRgBE Dogy HOAD T S8 Ko $oe00 & Sogy & @l O&R oond & [oggd

E5ofPnsm.

5. Karthik is younger than Vasanth by 7 years. If the ratio of their ages is 7:9, find the

age of vasanth. ;
b8 Hctdy $908 Sabiy) BoBl Db Noddyrer &R 0 Sabrne B T:9 eowd
5008 By Dow? |

3%01ANS20/2022 (1) ~ [Contd...



8.

10.

Difference of two numbers is 1660. If 7.5% of one number is 12.5% of the other
number, find the two numbers.

Dot Mogge Bn 1660 DO wE Sowy W 7.6
o Do Joagewd  HRNTTRLSY,

% Dol Dosy g, 12.6% ewand

9 . : : ,
Deckshitha purchased a pressure cooker at Tath of its selling price and sold it

at 8% more than its selling price. Find her gain percent.

9 o~ ;
A8 o8 (DeS HES B o0 edyd dedt o B HoBH 50 olyd Jo o8 8y

S B ed od off sEIDoB?

A.B and C started a business by investing Rs.1,20,000, Rs.1.35,000 and Rs.1,50,000
respectively. Find the share of each, out of an annual profit of Rs.56,700./-

AB %0 C e Ssm 1,20,000%- 1,365,000/~ 1,60,000/-, &rdrabes® 28 vy
Jnden e, ®@ T BoSEE soeabo 56,700/-, Erarabe wand eEHP TEe Jod?

SECTION - B
Answer any Three questions. Each question carries 10 Marks. (3x10=30)

DT S (BHoH Direrddven  (@eaindo. 158 HEHH 10 Sedpen.

i)  Find the greatest number which on dividing 1657 and 2037 leaves remainder
6 and 5 respectively.
1657 ©Bc% 2037 o Al SEHBT 6 Hda 5 en Blo Sty KBY Jomgd
Eoitodm?

ii) At what time between 4 nad 5 o’clock will the hands of a clock be at right
angle? .
KAGSPEoSt 4 HBa» 5 Kobe Sy wowsmo D Jdabo I dEHE0H?

i) A man sells an article at a profit of 25%. If he had bought it at 20% less
and sold it for Rs.10.50 less, he would have gained 30%. Find the cost
price of the article.

o &8 e SOH 26% oprdd odmd ©EH © SRHH 20% SHIO TV
62.10.60 0% ol 30% ego SYob. © SRH T Jo do¥?
ii) A bag contains 50p, 25p, and 10p coins in the ratio 5:9:4, amounting to
Rs.206. Find the number of coins of each type.
el HoDC' B0p, 26D HOdn 10p © R 5:9:4 JNHYS Er.206 IS

Sdribore ammow. O G0 @w dF) oIdr SFOI?

3*01ANS20 (2)



1. i)

12. i)

i)

A sum of money amounts to Rs.6690 after 3 years and to Rs.10,035 after
6 years on compound interest. Find the sum.

So8 Jnogo Y IE8° 3 HosHres®t &r.6690 HOd 6 VosEres® Er.10,036
oo, © Jvg) EHFED?

Vishnu was 4 times as old as his son 8 years ago. After 8 years, Vishnu
will be twice as old his son. What are their present ages?

8 Rodgre 880 DYy Sabky) ©S) EGH Sabdy) Kol wenh Bey HOaH 8
SoS§oe SR8 Ry Sy 8 T Scbly) Yol Dok Oy wand, TOEO
BRS Sohy) o EHrHEw?

What was the day of the week on 15% August, 1947?
1947, of 15 885 & &% ©HHod? _
A, B and C start a business each investing Rs.20,000. After 5 months

A withdrew Rs.5,000, B withdrew Rs.4,000 and C invests Rs.6,000 more. At

the end of the year, a total profit of Rs.69,900 was recorded. Find the share
of each.

AB %8a» C e» Rs. 20,000 o8& 2% TG0 [Bodordy. b Jve Soxg A
o3 %8 Rs. 5,000 ev, B o3 &8 Rs. 4,000 e» 25z IwHo8 C o 58 Rs
6,000 e XS Dépad EPD. a8 JodEBo HoxE Rs 69,900 ergo 3] a0
TEP Dod?

13. Study the following table carefully and answer these questions.

Bob.

H5S g™ 36D aFPEd HPeS SETGETen  (TPahos.

Number of candidates appeared and qualified in a competitive examination from
different states over the years.

005 oiEpes® o8 FE $0gH FePS S0 oFF FHODS eihe Soxy
Year 1997 1998 1999 2000 2001
State| App | Qual | App Qual App | Qual| App | Qual | App|Qual
et | 6888 | Sut (6888 | Fab a888 | Satd | o888 | Fad a8
M | 5200 | 720 | 8500 | 980 7400 | 850 | 6800 | 775 | 9500{1125
N | 7500 | 840 | 9200 | 1050 8450 | 920 | 9200 | 980 | 8800[1020
P 16200 | 780 | 8800 | 1020 | 7800 | 890 | 8750 | 1010 | 9750[1250
Q 8100 | 950 | 9500 | 1240 8700 | 980 [ 9700 | 1200 | 8950] 995
R 7800 | 870 7600 | 940 9800 | 1350| 7600 [ 945 | 7990| 885
3*01ANS20 3 [Contd...



Combining the states P and Q together in 1998, what is the percentage of
the candidates qualified to that of the candidates appeared?
a) 10.87%  b) 11.49% ) 12.35% d) 12.54%

1998 & P 8o Q ool Nodnwgorr bivkoll Bl efies ehgs
FHoDS 0 TEDHoE?
a) 10.87% b) 11.49% c) 12.35% d) 12.54%

i) The percentage of the total number of qualified candidates to the total
number of appeared candidates among all the five states in 1999 is:
a) 11.42% b) 11.84% c) 12.21% d) 12.12%
1999 & o) oies® 00 Avdo HeBS eyGoSt GBYS FHods T FEZOB?
a) 11.42% b) 11.84% c) 12.21% d) 12.12%

iii) What is the percentage of candidates qualified from state N for all the years
together, over the candidates appeared from state N during all the years

i)

together?

a) 12.36%  b) 12.16% c) 11.47%  d) 11.15%

o) BosHTes® oI N $Hod Iwfo HeBS effhed’ 6858 FHodd 0
FEDOS?

a) 12.36%  b) 12.16% c) 11.47% d) 11.15%

What is the average of candidates who appeared from state Q during the

iv)
given years?
~a) 8700  b) 8760 c) 8810 d) 8990
ogEy Q Dol o BodEyores® 2B oo ¥oHd D08?
a) 8700 " b) 8760 c) 8810 d) 8990

v) Total number of candidates qualified from all"the states together in 1997 is
approximately what percentage of the total number of candidates qualified from

all the states together in 19987

a) 72% b) 77% - c¢) 80% d) 83%

1998 & o) Tie D08 ©fs FHoDS O Boggs® 1997 & o TigPe ol
088 FEOIS 0 Sogy EE) FSHoS? |

a) 72% b) 77% . ¢) 80% - d) 83%

- 3*01ANS20 4)
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B.A/B.Com./B.Sc./B.Sc.(H&HA)/B.B.A./B.C.A. (CBCS) DEGREE

Time : 1¥2 Hours

L
L.
2.
35
4.
3.
6.
g8
8.

IL

B g e g B

EXAMNATIONS, FEBRUARY / MARCH-2022

(Examination at the end of Third Semester)
Part - 111 : Life Skills
ENVIRONMENTAL EDUCATION:
(Regulation : 2020-21)

~ SECTION - A

Answer any FOUR questions. Each question carries Five Marks.

Eco system biodiversity.
Genetic bio diversity.
Construction of dams.
Predators and Pest control.
Chipko movement.

Forest conservation Act.
Acid Rains.

Scope and importance of environmental education

SECTION - B -

Answer any THREE questions. Each question carries Ten Marks.

Write about the land and water resources in India.
Explain the Green house effect.

Write an essay on conservation of biodiversity.
Give an account on Deforestation.

Write an essay on Biodiversity.

3*01ENE20/2022

Maximum Marks : 50

(4%5=20)

(3x10=30)
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3*01ENE20

B.A/B.Com./B.Sc./B.Sc.(H&HA)/B.B.A./B.C.A. (CBCS) DEGREE

EXAMNATIONS, FEBRUARY / MARCH-2022
(Examination at the end of Third Semester)
Part - III : Life Skills
ENVIRONMENTAL EDUCATION
(Regulation : 2020-21)

Time : 1% Hours Maximum Marks : 50

SECTION - A

L Answer any FOUR questions. Each question carries Five Marks. (4x5=20)

1
2
3
4
5.
6
7
8

Eco system biodiversity. .%/’ 50 SFm 24 J‘?; .9{[‘-‘-’

Genetic bio diversity. @0 &S T 4Nt

Construction of dams. £ ;({%) o I3 a0

Predators and Pest control. ¥'458 & ge(SeRT)) <0 exs DB 5o
Chipko movement. = =g g{k —é/‘.yé =2

Forest conservation Act. &' (1% K 7esg=° ﬂé.j.m

Acid Rains. ' ..{%:6 & 2z, e

Scope and importance of env1r0nmental education &3 zﬁ"a’a’maﬂz{(\ w9t .'bf_',’:)

> 8 aw By XA s

SECTION - B

IL. Answer any THREE questions. Each question carries Ten Marks. (3x10=30)

1
2
3,
4
5

Write about the land and water resources in India. q.(pa’d’é?.(g_/ 237G do Jswe
3/5 B ol .

Explain the Green house effect. @ T35 J—% T d d,&r;? S @m&.—a
Write an essay on conservation of biodiversity. Qfm‘? 0 Tos, "e”
Give an account on Deforestation. ggf ¢o) g 3 pe £ A B @w s

t
Write an essay on Biodiversity. g’{ﬂ- ‘Sﬂ"’ oJabsa :.g)&si) D8ar? 'é\ )

@

3*01ENE20/2022
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3*020NB20
B.Com. (CBCS) DEGREE EXAMINATIONS, FEBRUARY / MARCH - 2022

(Examination at the end of Third Semester)
Part : III: Skill Development

Online Business

(Regulation : 2020-21)

Time : 1%z Hours Maximum Marks : 50

SECTION - A
- Answer any FOUR questions. Each answer carries 5 marks. (4%x5=20)
1. Online business
®odPY  aFgEPE0

2. E - Commerce
s - a‘&eszgo

3. Procurement
HESes

4.  Logistics
o)

S.  Customer Relationship Management (CRM)
AA@rPHD  Yowogre QBes.

6. Online Advertisements
wodre (H¥LIen

7. Payment Gateways
3o TeSIen

8.  Supply chain management
VDI FPend e

3*020NB20/2022 -' ) [Contd...




10.

11.

12.

13.

SECTION - B
Answer any THREE questions.

Define online business and explain its charecteristics?
wodro Tgarto ANoD HOAD D ofmrein (Frabold?

Elucidate the challenges of online business?
©0STO 3055'5 éa’@& DHBoBol?

Explain the strategies of online business?
wodre TRl Fgfoid DB00S0l?

Discuss the process of strategic planning?
FFEE P=rdE JpSdnd Kr8) $8)oSod?

Explain the importance desigining online business website?
oodTo TS Y ErSe)S G (FSvggESH DS60S0L?

3*020NB20 2)

(3%10=30)
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B.Com. (CBCS) DEGREE EXAMINATIONS, FEBRUARY
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/ MARCH - 2022

(Examination at the end of Third Semester)

Part - III : Skill Development
RETAILING
(Regulation : 2020-21)

Time : 12 Hours ’ , Maximum Marks : 50

SECTION - A~
Answer any FOUR questions.
Define Retailing.
Store location.
Role of Retailing. : .
Administrative Mechanism. |
Customer Care.
Job Profile.

Merchandise planning.

® N ;R W N

Sales promotion.

SECTION - B
Answer any THREE questions. -
Describe factors influencing the growth of Retailing in India?
Explain the types of Retail outlets? |
* Explain about Human Resource in Retailing?
Describe about communications with customers?

Define Retailing and explain the role of Retailing?

M e o e

3*02RTL20/2022

(4x5=20)

(3x10=30)
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3*02ADA20
B.Com. GENERAL/COMPUTER APPLICATIONS/ACCOUNTING &
FINANCE/TAX PROCEDURES & PRACTICE (CBCS) DEGREE
EXAMINATIONS, FEBRUARY/MARCH - 2022
(Examination at the end of Third Semester)
Part - II : B.Com General/Computers

ADVANCED ACCOUNTING
(Regulation 2020-21)
Time : 3 Hours Maximum Marks : 75
SECTION - A
Answer any Five of the following questions. , (5%5=25)

BT oD (DHH Jdrprdsven (FPanHw.

1. Deffered Revenue Expenditure.
Joodd Tl pwyY)

2. Life Membership Fee
A8 Beg L.

3. What are the features of single entry system?
20858 drSo ofEdd?

4. What is networth?
D88 Dend

5. Hire vendor

3 @é)&é‘{mrda

3*02ADA20/2022 0))] . [Contd...



6. What are the essential features of partnership firm?

Ry Soy Ay wony OFEB?

7. What is sacrificing ratio?

g B eI I?

8. What are the circumstances under which a partnership firm gets dissolved?
PRI V0P VLA DD HotsoB?
SECTION - B
Answer All the questions. (5%10=50)
o)) DPHODH Jdrgrdsnen (@eabodm. ‘
| Unit-I
9. a) Distinction between non profit concern and non-trading concern?
rPSY, TRFVEY doge oo Sgasron DBdoHLD.
(OR)

b) From the following Receipts and payment account prepare final accounts of
a sports club for the year ending 31.03.2018.

Receipts Rs. Payment Rs.
To subscriptions 15,000 By Land 10,000
To Donations 50,000 By Buildings 40,000
To Legacies . 10,000 By Furniture 10,000
To Extrance fees 5,000 ' By Sports materials 5,000
To Life members fees 3,000 By Sports expenditure 6,000
To Sports Income 17,000 By General expenses 1,000
By Magazines 1,500
To Sundries . 5,000 By Ground expenses 4,000
‘To Sale of old papers 500 By Balance c/d 28,000

3*02ADA20 ()



Half of the donations, Legacies, entrance fees and life membership
fees is to be capitalised. Subscriptions still out standing is Rs.5,000.
Depreciation fixed assets by 5% and sports material by 10%.

Bod aWES SIr¢) BDoHeo grEe ok e Bz Sogvo @wE) Sohosy B

SS5r% BaHodl.
Sdreq) _ & dPoshen LS T
To Sotres 15,000 By #»0 10,000
To Sovemen 50,000 By #isares 40,000
To sisexes 10,000 By 5656 10,000
To G3% Sorborkeo 5,000 By et ©080es 5,000
To 498 wesy Goso 3,000 By wte md)'_)o:;\. 6,000
To soop eahsn 17,000 By awpte e 1,000
By s@®%e 1,500
To 2% é"«o:"ﬁ;l) ‘ | 5,000 By g QBgees pEYen 4,000
To 8 H58 esyso 500 By smfod e 28,000

Ao, TEHERe, HHE O, A8 [y Hsveds® Ko SwrerdEbosod.
BOE® Oren seHodS Sowren & 5,000. JoRop 5% b IBsrop 10%
SBorHse 3)0‘:)&) BAHo8.

3*02ADA20 3) _ [Qontd...



Unit-I1 o
10. a) Mohan has not maintained proper books of accounts. He furnished the
. following information before you. Prepare necessaty statements for the year
ending 31.03.2008 and Find out the profit or loss.

Particulars 01.04.2020 31.03.2021
Rs. Rs.
Cash in hand 5,000 6,000
Bank overdraft 45,000 40,000
Stock 60,000 62,000
Creditors 38,600 37,200
Debtors 30,000 32,000
Bills Receivable 40,000 38,000
Bills Payble 60,000 57,000
Buildings 50,000 50,000
Fumniture -~ 5,000 5,000

His drawings during the year Rs.750 per month Depreciation on

buildings at 5% on furniture at 10% reserve for doubtful debts at 5% on sundry
debtors.

IS &5 grevoDH $0 wand 8885 JsErosB. BHS S 08} ISte Dok
31.03.2008 & woddly JoSHTIE ©SHELS B o B CFSToH SSED

Bahod?
DSceen 01.04.2020 ~  31.03.2021
o5 T | S>n
386 s 5,000 6,000
a0 856 @F 45,000 40,000
e 60,000 62,000
ot 38,600 37,200
eoea(f§iden 30,000 32,000
Stirer Deges 40,000 38,000
3005 Hegen 60,000 57,000
gsven . 50,000 50,000
5856 5,000 5,000

8 BoBB)BoS® ©E) Fod s Jod B T50.. gSwed 5% PSS D 10%
SOrose HocH wonliiep 5% Sodards wdo D Doven Babod.
(OR)
3*02ADA20 “@



b) What do you mean by sin

iy i gle entry system? What are its advantages and
efects?

aof) B Jgrdo wol «'D&bﬁ?‘ 0 (BArmmreny, o Coabod?

Unit-III -

11. a) Almotor company  purchased two trucks on 1st Jan 2019. The cost price
be{ng Rs.56,000 on signing the agreement and there after Rs.15,000 being
pan_d annually for 3 years. Interest was changed at 5% depreciation was
written Oft: at the rate of 20 per annum on the reducing instalment
system. Give necessary Journal entries in the book of both the parties.

2019 =350 1 & 885 2.8 Irerdy Kod = o3 - Foften JE8D Bod (L%
ity Jahdo 206R08. e $K Sareso Gen 56,000 adjoso P Hodseen
SR & 15,000 300D HADSE 3 RosEored® (©8 JoSHTd8 e 15,000
SRoHReP™ afoto Foounh $48en 5% voSH008 20% S SHse B
TONTO HES (HsP80 Do FaHEHIO. Botd Eonde V808® oIIBPS Dep SEe

@eca0a?
(OR)

b) ~ What is meant by Hire purchase system and installment system? What are
their features and differences?

©3 ESfRten B58 B Tonme ESRfen 358 ol IN? T8 ofmre BOD, B
Q .
ot Ke e IHBoHR0?

Unit-1V
12. 2a) Define partnership. What is partnership deed? Give it’s contents.
FrPgmgRy  DBEotHE. gty esdjolio éﬁmﬁ&b? T Qg Swgrgoed?
| (OR)

3*02ADA20 | &) : [Contd...



b)

A and B are partners in a firm sharing profit and losses 60%) and 40%
respectively. That balance sheet as on 31.12.2019 was as follows.

Balance Sheet

Liabilities Rs. Assets Rs.
Creditors 40,000 | Cash at bank 2,000
Capital Debtors 25,000
A 40,000 Stock 40,000
B 30,000 70,000 | Plant and machinery| 43,000
' 1,10,000 1,10,000

The partners agree to take ‘C’ as a partner on the following terms:

a) That ‘C’ will pay Rs. 20,000 as capital for 40% of future profit of
the Firm.

b) That the assets are to be revalued before his. admission. The stock be
reduced to Rs.35,000 and plant and machinery be depreciated by 10%.

c) That a reserve of 2)2% be created against debtors.

d)  As the new partner is unable to pay anything for goodwill, a good will

account be raised in the books of the firm for Rs. 30,000.

Show necessary Journal entries, profit and loss adjustment account and

the balance sheet of the new firm.

A 20a» B e SH5 60% 20 40% GBS ergisipes SoSHEotnamd.
81122019 & 0 e} o & Bod o Hod.

oI pen oS ] 8l 5 T
0TS 40,000 | ergos® S 2,000
Sarersso 200es|($:en 25,000
A 40,000 JBB 40,000
B 30,000 70,000 |  arotn-cHo@ren 43,000 .
1,10,000 1,10,000

T8 & (Bod JwogseH &l ‘C’ 1 g SEEsdm.

a) ‘C’ &r 20,000 o FAZHS® BN erereDd 40% SLEDHLL KresSorr
BHHTEBD. -

b) . 08l WAIENHH LwHD GROH YSERENOESED FeHIBH. THH DenSH
&e. 35,000 ofH SRoSHBD. Fpotn-ddolEreRn 10% Shrhles HoTED

BB,

3%02ADA20
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13.

a)

b)

fos et U D)

%
d) "1 " OB Somen Bassa,

OIS e -

" ' U‘ﬁ"‘\') A o -
S Y ope 5@0 " &en ety grevd  $8chn &8 Do

ArSddsod,

ABC are part
ne : . .

financial Cll?isis r;hs!larlng equal ratios. [hey dissolve their firm due to
+ heir Balance gheet on the date of dissolution is as:

Liabilities Rs. Assets Rs
A:S Cap?tal 24,000 Building 30,000
B’s Capital 27,000 Machinery 15,000
C’s Capital 9,000 Stock | 30,000
Creditors 81,000 Debtors 66,000

1,41,000 1,41,000

All assets. realised for Rs.51,000/-. All the partners were insolvent and could
not contribute anything from their private asset. Prepare ledger accounts.

ABC o grifidgives evgfsipos dimsor SobHbotr. w6 ©gs 6B 2P
S0more Bog 8 Smed JHowodv. 0 el ebpe 54 (BoB Do &od.

oSpen - Sgo el Sndo
A Sredso 24,000 g0 30,000
B swmosiso 27,000  dholgees 15,000
C Saretsiso 0,000 st 30,000
A 81000 eweiiges 66,000

- 1,41,000 1,41,000

51,000/- end Ko eien BwFo Sired GowIraw. ©oXK grrgenr B BV
8 Prod eie ©ob dnsod ImY SHEV TBH. BSIEPS grEred Sarod

Ba%H0a.

™)

3*02ADA20
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3*02BST20
B.Com General/Computer Applications/Accounting & Finance/Tax Procedures
& Practice (CBCS) DEGREE EXAMINATIONS, FEBRUARY /
MARCH - 2022

(Examination at the end of Third Semester)
Part : II: B.Com General/Computers
Business Statistics
(Regulation : 2020-21)

Time : 3 Hours SECTION - A M?xlmum Marks: 75
degrfsn ~ D
Answer any FIVE of the following questions. (5%5=15)

QI WD (DD  JSrerdsimen (>d5ndm.

1.  Questionaire.

S0,

2. Explain the characteristics of a good average?
0D IS AoEBORS eFmred HHBB0YPEN?

3. What are the merits and demerits of Geometric means.
ondgho @Y @Edrae SroH DSB0HI?

4. Define skewness and explain its features?
Bhsg0 DD ofred DHOOHIW?

5. Meso Kurtosis
DR HERS

6. Probable Error

Ddogras &%o
. Range
TH

8. Mean Deviation
Sty DiSeidim.
3*02BST20/2022 1) [Contd...



Answer ALL questions.

SECTION - B

Drodn T8 (5x10=50)

o) DHoH DIrErSSen  (@edind.

9. a)
b)
10. a)
b)
11. a)
b)

What are the statistics? Describe the charactcristics of statistics?
HeroSersn osm ID? Kool a7y ofmreln BO0HI0?
(OR/8c)

Draw a cumulative frequency curve of ‘Less Than’ and ‘More than” types and
find the median for the following data.

808 Seowd8 HoB SLF, HoB My vods DIy CpoH Ad, Biyiedy
SSRS08.

x 10-20 - 20-30 30-40 40-50 50-60 60-70 70-80

y 2 5 11 5% 9 6 2

The marks obtained by 60 students are glven below.
Calculate arithmetic mean '

60 Hob JTghetr Srdpen (Bod EDIO. eoBHgEry KBosod.
x 0-10 10-20 20-30 30-40 40-50-  50-60

f 3 6 10 21 12 8

(OR/8cr)

Calculate Median from the following data

Bod =AW Seroaeds Hgyierd) B8pSod..

x 30 42 38 56 32 60 45 50

fs 20 8 6 7 4 10 5

Explain different types of Kurtos’s?

DO Bsee Kurtos’s 8o DS880HS0?
(OR/8or)
Calculate Bowley’s co-efficient of skewness from the following data
(Bob Gwrowd8 FD Bk roreseR) BBoBOA.
x 0-10 10-20 20-30 30-40 40-50 50-60

s 12° 7 20 16 5 2

3*02BST20 | ?) |




12. a)

b)

13. a)

Calculate mean deviataion and its co-efficient for the following data
OS5 ad Smoedl ErH Doy, s ool 8805087

Income 250 300 325 350 375 425 600
T ewrdbo
No of persons 20 14 6 26 9 18 7
o Soxg
(OR/8er)

Calculate Standard deviation?
SSrdE DR EoRsol?

Temperature -40--30 -30 - -20 -20 - -10 -10 - 0 0-10 10-20 20-30

No.of days 10 . 28 30 42 65 180 10
o' - y

Arithmetic mean 18 100

©0¥ Ko |

Standard deviation 14 20

(FSPBE  DSedo
Co-efficient of correlation between x and y is +0.08 find the most probable
value of y of x is 70.

X B y © gy Jbomol Hessn +0.08. X 70 eocndl y AwE) Jogrdsger
DenSd BoPaoa.
(OR/8cr)
Compute the co-efficient of correlation between x and y.
X &Bdio Yy © Hgy S Sowoy Hessnd B88Hi.
X 1 «2 3 4 5
y3 4 6 7 10

3*02BST20 3
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3002MKT20
B.Com. General (CBCS) DEGREE EXAMINATIONS, FEBRUARY / MARCH - 2022
(Examination at the end of Third Semester)
Part - II: B.Com General
MARKETING
(Regulation : 2020-21)

Time :3 Hours Maximum Marks : 75

SECTION - A
Answer any FIVE of the following questions. (5%5=25)

1. Define Marketing.
SrO)BOR B ABIDOBE.

2. Marketing Environment.
S0 B0h MFS0.

3. Consumer Behaviour.
DIBPHTEHD (HHES.

4.  Product Concept.
8 g

5. Penetration Pricing.
FanHddh 88 o

6.  Advertising.
HELSen.

7.  Online Marketing,.
8388 &royfoh.

8. Branding.
(erolioR.

-3002MKT20/2022 (1) | [Contd...



10.

11.

12.

13.

SECTION - B

Answer ALL the questions. Extiisg .
a) Explain 4P’s of Marketing?
4 P’s $r5B0f & DEB0HS0?
: (ORMEw)
b) Explain the concepts of Marketing?
SrOyBoR FrESH DBBOHKN?
a) Explain Buying Decision Process?
oo YD (HBaH% DSBopSD?
(ORBw) |
b) Explain the advantages and disadvantages of market segmentation?
SropS Pod ) (HFAreIren, SFXroH DB60H50?
a) Describe the product classification?
3% éééda’» DHB0PH0?
(ORBor)
b) Explain about product mix and product line Decision?
5% MFDo DBy aHHBBS Jgabo HBoD JHBoHED?
a) What is the importance of pricing in marketing in marketing strategy?
S7O)B0R 6 HFTBOR FGFEE Gte rivngs DB00RED?
(ORBe)
b) Explain about pricing strategies? ‘
§5 GrsiPo HBOD DSBOHED?
a) What are the functions of promotion mix?
BIFES DiFSo Gy Npen DSB0YSN?
(ORMov)
b) Discuss about the distribution channels?

Sodd Srere 00D DSBoBOA?

3002MKT?20 @)
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3007PWC20

B.Com. Computer Applications (CBCS) DEGREE EXAMINATIONS,
FEBRUARY / MARCH - 2022
(Examination at the end of Third Semester)
Part - II : B.Com. Computers
PROGRAMMING WITH C & C++
(Regulation : 2020-21)

Time : 3 Hours Maximum Marks :75
SECTION - A
"Answer any FIVE of the following questions.

Write about various Tokens in ‘C’ language.
Write a C program to print the prime numbers upto given range.

Write a C program for finding factorial of a given number using recursion.

(5%5=25)

Explain about call by reference with example.
What is the difference between -object and class? Explain with example.
Explain static member functions in C++.

Explain the rules for operator overloading. -
Explain about protected hierarchical inheritance with example.

® N A M oA W oN e

SECTION - B

Answer FIVE of the following questions. (5%10=50)

9. a) Explain the structure of C program with an example program.
(OB
b) What is Data type? Explain the Data types in C with example.

10. a) What is String? Explain string handling functions in C.

(OR)

b) Write a C program for matrix multiplication.

3007PWC20/2022 | (1)




11. a)
b)
12. a)
b)
13. a)
b)

What is OOP? Explain the basic features of OOP.
(OR)

What is Function over loading? Explain with an example program.

What is constructor? Explain types of constructor.

(OR)
What is Destructor? How destructor different from a normal member function?
Explain with an example.

What is inheritance? Explain types of inheritance.
(OR)

What is derivation? Explain types of derivation.

3007PWC20 )



